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QUESTION 1

You opened a support ticket with JTAC for your Juniper ATP appliance. JTAC asks you to set up access to the device
using the reverse SSH connection.Which three setting must be configured to satisfy this request? (Choose three.) 

A. Enable JTAC remote access 

B. Create a temporary root account. 

C. Enable a JATP support account. 

D. Create a temporary admin account. 

E. Enable remote support. 

Correct Answer: CDE 

Reference:
https://kb.juniper.net/InfoCenter/index?page=contentandid=TN326andcat=andactp=LISTandshowDraft=false 

 

QUESTION 2

You are connecting two remote sites to your corporate headquarters site; you must ensure that all traffic is 

secured and 

only uses a single Phase 2 SA for both sites. 

In this scenario, which VPN should be used? 

A. An IPsec group VPN with the corporate firewall acting as the hub device. 

B. Full mesh IPsec VPNs with tunnels between all sites. 

C. A hub-and-spoke IPsec VPN with the corporate firewall acting as the hub device. 

D. A full mesh Layer 3 VPN with the corporate firewall acting as the hub device. 

Correct Answer: A 

Reference: https://www.juniper.net/us/en/local/pdf/app-notes/3500202-en.pdf 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. Events based on this third-party feed will not affect a host\\'s threat score 

B. SRX Series devices will block traffic based on this third-party feed 

C. SRX Series devices will not block traffic based on this third-party feed 

D. Events based on this third-party feed will affect a host\\'s threat score 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/en_US/release-independent/sky-atp/topics/concept/skyatp-integrated-
feeds.html 

 

QUESTION 4

You have a webserver and a DNS server residing in the same internal DMZ subnet. The public Static NAT addresses
for the servers are in the same subnet as the SRX Series devices internet-facing interface. You implement DNS
doctoring to ensure remote users can access the webserver. 

Which two statements are true in this scenario? (Choose two.) 

A. The DNS doctoring ALG is not enabled by default. 

B. The Proxy ARP feature must be configured. 
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C. The DNS doctoring ALG is enabled by default. 

D. The DNS CNAME record is translated. 

Correct Answer: BC 

 

QUESTION 5

Click the Exhibit button. 
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You have recently committed the IPS policy shown in the exhibit. When evaluating the expected behavior, 

you notice that you have a session that matches all the rules in your IPS policy. 

In this scenario, which action would be taken? 

A. drop packet 

B. no-action 

C. close-client-and-server 

D. ignore-connection 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-idp-policy-rulesand-
rulebases.html 
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